TRIG PRACTICE Name:  FUOSCIA

Date: Period:

Evaluate the six trigonometric function of the angle 6.
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14. Sam is trying to calculate the height of a tower. He is standing 95 meters from the base of a tower.
The angle of elevation from Sam's position on the ground to the top of the tower is 35°. Calculate the
height of the tower to the nearest tenth of a meter.
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15. A kite is flying 70 feet above the ground and is attached to a string tied to a stake on the ground. The
angle of elevation formed by the string and the ground is 40°. Find the length of the string to the nearest

f ' " ] ™ )',;';"' el (": . y i
) 0 sin 40 =48 The lenah of Yhe
m,_m S ‘g‘ ey > 1 )
* A )%’sf%nﬁ s 104 %

b 3()3 ?FE’?"‘%

16. A building that is 115 feet tall casts a shadow that is 190 feet long. Determine the angle at which the
rays of the sun hit the ground to the nearest degree. (Find the angle of elevation).
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17. A road has an incline of 10°. To the nearest foot, find the increase in altitude of a car after driving

4,000 feet along the road. : % o L —
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18. A guy wire is attached to a pole for support. If the angle of elevation to the pole is 67° and the wire is
attached to the ground at a point 137 feet from the base of the pole, what is the length of the guy wire
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19. A diver stands on level ground 50 feet from the base of the 12 foot high dive. What is the approximate
measure of the angle of elevation between the diver and the diving board (round to the nearest whole
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;ﬁf‘f\f 20. A 66 inch tall person walking down the street notices his shadow. If the angle of elevation from the *~
of the shadow to the sun is 60°, what is the 1en€h of the shadow (round to 2 decimal places)?
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